242 -85 35 w5 NS UK CHESMMAET  WHSIES 1 (@ )

it ‘%*‘
- A e “
” m‘m

Fepig it Xk



Fl17Yy bba—Y3EFBEOEEENZL, HA L
— UEH (MR~ ) 121310 K72 D F9500 kgD
HEEREL B BEREOEHIIRRNT T,

BEAERFEO 320103 OF—FERES
BE, @I QEUEKMEEEIKRAL ¥ b &
BNET,

1 EBSETIF I REEESNCLE

LEQILEE X, EXPE KON RV & &
FWATTVET, BELRESRMETE, BRIE
TrR—hRfELr B, BEVEOEEIIHER
FLNETT,

il 1oTe T AR 1 £ZDBY T,
2 SR mHEHE S FF

Razof@s#8E L, 2IEEE2TV. #Hko %

WEHBENTEEEY T 5 2 A TEENEDR £ &

TDET,

Fv ha—v 7t PRHEOHEIRG
HERRAE 2~ 3t

N :12kg Hi%30kg. (GEAE) FRE12kg

P :15kg ®F50kg. & I #E25kg

K :10kg HihN25ke

Fvba— v ORBEHEE T, F—BREMEIZLD
B)ROKPPEEL BV E T,

1 AR AERIRIR O » 5 BT A, [ UA
HehNE2ARITHEERZ E<CLALZALED
FREFISIIERE R AL, TRIELD E T,

—a—F>hk 105H 10a %9 7,000
—a—Fr b 110H ” 6,500 ~
—a—F bk 115H ” 6,000 ~
Za—F> b 1200 ” 5,500 ~

3 RBREFOHHTHNLE
BEXoay 7 A, 7T IV O 2REAT, X
LAY OBEIFRES N, FIRYKBRE, FHBREOL
1% Frha-CORKFEAERE XL

W B | R & i i
!“:,..;p | =a—73% bgsH, 4 A2 ¥ 2396,
JEH - 4L | AT TR A =T RE RS
| B [y ah—a—> |
Yoo | Z2—7 28I, 74 AT Y951,
- Ry (LEREN 7Y 7,
|8 - #L | o | =2—7> F105H, =2—F > F1I10H,
I U AT >l » LONL 04 4 =THE,
- B Za—72 FlI5H,%7¢4¢ 237 ¥ 21150
[ INA 9 2= T U |
L —2—Fv F105H, =2 —F > F110H, |
[ 74 2323 2110H,754 4 =7
e e | B | =a2—F Y RSH,Tt AT YL Y
| SRl 1151,
‘ it —a—FY M20H, Y4 AT > |
[ 1201, /34 4 = T BRAE ‘

(BEFIOMIEIE 2 lEA T TH

BixhbnEtAs
FERE)
aay 7 A (FEFRINEE)

e 7y ba— iM%, 2~ 3 HHIZEAE
(FEBR BT 5 EHEELET D)
e10a Mooy 7 21509 #7K1000 12F 9D T
EXIL:y €l
o 1A ARMEE (v, T/ 3UH) 25T,

TrIYY (BT T L)

e FU RNIFXFUDARES ~ AD L EIIEEEA
e10a MW7 FF7Y 1509 &/KI00L 12 FTOT
£ EAR
e NN, THY, VAT FLERERELZRT .

4 ZTOMEEEETIER

ONYH ALY, 2FULYOEKRIZ, BFIZV
Chrl#EBAZMHEHAT 5,

OftFIERl e 7> ha— v HEFLAEET S L,
RFEEL HZTOT, LEREZ L LEM S
&3 (BICEMERREOSE ICER)

OBMENEH, BL T4, FOIHEL, B
DT 5, SEMMOEREZF 5.

OEIRE (TVENE) ORELLTVHET
3. BR{EREERT L. HEIEZERA L, e
BV haI—vOEBRESELT L, ERE
1ZEBWETE T2 —F by 28RZETY,

&

dtimiE 2 ek (FLIR) (BB49)

| g | g | EAUR | PR SR

P RESE IR (oo e b | T ke
*%B‘&ﬁpﬂgﬁéﬂgﬁ

|
it kg‘ %| ke| %| %| ke

| HH|H U %
4 A3 3 ¥110H(W573) (8. 1419.27 | ## 544 100 | 60 |134/100| 95 {100
= 2 -5 MIOH(XIE) | .17| .30 » [582|107 | 77 154 |115[110 116 |
g 2323 1SA(WSA) | 16| .30 » (530 | 98| 73[140(105 |101 |107
=2 =5 MISA(XIE) | .19[10.2 Hisk 644 119 71155 116 108 115
942335 YINE(WET3) | .17(9.30| 609 112 65 142 106 [100 106
£ 2= %> M2OB (x202)| .21(10.2| » [760|140| 69 |164 (128114 120

e OBMEEIT6044/a OEIERIIEE2:16:9:6) D15
@utitiza %729 @TDN OHERHBEANRIT& 5.



